

Rudolf Oláh

Oscillation of linear retarded differential equation

*Czechoslovak Mathematical Journal*, Vol. 34 (1984), No. 3, 371–377

Persistent URL: <http://dml.cz/dmlcz/101962>

## Terms of use:

© Institute of Mathematics AS CR, 1984

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

OSCILLATION OF LINEAR RETARDED DIFFERENTIAL EQUATION

RUDOLF OLÁH, Žilina

(Received February 4, 1982)

We shall study the oscillatory behaviour of solutions of the linear differential equation with retarded argument

$$(1) \quad y^{(n)}(t) + p(t) y(g(t)) = 0, \quad n \geq 2,$$

where  $p(t)$  and  $g(t)$  are continuous functions on  $[a, \infty)$ ,  $a \geq 0$ ,  $p(t) > 0$ ,  $g(t) > 0$ ,  $g(t) \leq t$  and  $\lim_{t \rightarrow \infty} g(t) = \infty$ .

Our aim is to give new sufficient conditions that guarantee the oscillatory character of equation (1) as well as of the corresponding ordinary differential equation.

We shall use the following definitions.

A solution  $y(t)$  of equation (1) is called *oscillatory* if it has arbitrarily large zeros, and it is called *nonoscillatory* otherwise.

Equation (1) is said to have *property A* if every solution of this equation is oscillatory if  $n$  is even, and every solution is either oscillatory or  $\lim_{t \rightarrow \infty} y^{(i)}(t) = 0$ ,  $i = 0, \dots, n - 1$  if  $n$  is odd.

We introduce the notation:

$$\gamma(t) = \sup \{s \geq a : g(s) \leq t\} \quad \text{for } t \geq a.$$

The function  $\gamma(t)$  has the following properties that can be found in [10]:  $t \leq \gamma(t)$ ,  $g[\gamma(t)] = t$ ,  $t \geq a$ .

**Lemma 1** (Kiguradze [3]). *Let  $y(t)$  be a nonoscillatory solution of equation (1) and let*

$$y(t) y^{(n)}(t) \leq 0 \quad \text{for } t \in [t_0, \infty), \quad t_0 \geq a.$$

*Then there exist  $t_1 \in [t_0, \infty)$  and an integer  $l \in \{0, 1, \dots, n - 1\}$  such that  $l + n$  is odd and*

$$(2) \quad \begin{aligned} &y(t) y^{(i)}(t) > 0 \quad \text{for } t \in [t_1, \infty) \quad (i = 0, \dots, l), \\ &(-1)^{n+i} y(t) y^{(i)}(t) < 0 \quad \text{for } t \in [t_1, \infty) \quad (i = l + 1, l + 2, \dots, n), \end{aligned}$$

$$(3) \quad \begin{aligned} &(t - t_1) |y^{(l-i)}(t)| \leq (1 + i) |y^{(l-i-1)}(t)| \quad \text{for } t \in [t_1, \infty) \\ &(i = 0, \dots, l - 1), \quad 1 \leq l \leq n - 1. \end{aligned}$$

**Theorem 1.** Let the following condition be fulfilled:

$$(4) \quad \limsup_{t \rightarrow \infty} \left[ \frac{1}{t} \int_T^t s [g(s)]^{n-1} p(s) ds + t \int_t^\infty \frac{[g(s)]^{n-1}}{s} p(s) ds \right] > (n-1)!, \quad T \in [a, \infty).$$

Then equation (1) has property A.

*Proof.* Without loss of generality we assume that  $y(t)$  is a nonoscillatory solution of equation (1) such that  $y(g(t)) > 0$  for  $t \in [t_0, \infty)$ ,  $t_0 \geq a$ . Then with regard to Lemma 1 there exist  $t_1 \in [t_0, \infty)$  and  $l \in \{0, 1, \dots, n-1\}$  such that  $n+l$  is odd and (2), (3) hold.

Let  $l \in \{1, \dots, n-1\}$ . According to (3), for sufficiently large  $t_2 \in [t_1, \infty)$  we obtain

$$(5) \quad y(g(t)) \geq \frac{[g(t) - t_1]^{l-1}}{l!} y^{(l-1)}(g(t)), \quad t \geq t_2.$$

From the identity

$$(6) \quad z^{(j)}(t) = \sum_{i=j}^{k-1} (-1)^{i-j} \frac{(s-t)^{i-j}}{(i-j)!} z^{(i)}(s) + \frac{(-1)^{k-j}}{(k-j-1)!} \int_t^s (u-t)^{k-j-1} z^{(k)}(u) du, \quad s \geq t \geq t_2,$$

where  $1 \leq k \leq n$ ,  $z \in C_n([a, \infty), \mathbb{R})$ , we obtain for  $k = n-l+1$ ,  $j = 1$

$$(7) \quad z'(t) = \sum_{i=1}^{n-l} (-1)^{i-1} \frac{(s-t)^{i-1}}{(i-1)!} z^{(i)}(s) + \frac{(-1)^{n-l}}{(n-l-1)!} \int_t^s (u-t)^{n-l-1} z^{(n-l+1)}(u) du.$$

Choose  $z(t) = y^{(l-1)}(t)$ . Then by (2) we have  $(-1)^{i-1} z^{(i)}(s) > 0$ ,  $i = 1, \dots, n-l$  and (7) implies

$$z'(t) \geq \frac{(-1)^{n-l}}{(n-l-1)!} \int_t^\infty (u-t)^{n-l-1} z^{(n-l+1)}(u) du.$$

Using (5) and equation (1) in the last inequality we obtain

$$(8) \quad z'(t) \geq \frac{1}{(n-l-1)! l!} \int_t^\infty (u-t)^{n-l-1} [g(u) - t_1]^{l-1} p(u) z(g(u)) du.$$

Integrating (8) from  $T$  to  $t$ ,  $t > T \geq t_2$ , we get

$$z(t) \geq \frac{1}{(n-l)! l!} \int_T^t (u-T)^{n-l} [g(u) - t_1]^{l-1} p(u) z(g(u)) du + \frac{1}{(n-l-1)! l!} \int_T^\infty [g(u) - t_1]^{l-1} p(u) z(g(u)) \int_T^t (u-s)^{n-l-1} ds du,$$

$$z(t) \geq \frac{1}{(n-l)! l!} \left[ \int_T^t (u-T)^{n-l} [g(u)-t_1]^{l-1} p(u) z(g(u)) du + (t-T) \int_t^\infty (u-T)^{n-l-1} [g(u)-t_1]^{l-1} p(u) z(g(u)) du \right].$$

We choose  $T_1 \geq T$  such that  $g(u) \geq T$  for  $u \geq T_1$ . Then for  $t \geq T_1$  we have

$$(9) \quad z(t) \geq \frac{1}{(n-l)! l!} \left[ \int_{T_1}^t (u-T)^{n-l} [g(u)-T]^{l-1} p(u) z(g(u)) du + (t-T) \int_t^\infty (u-T)^{n-l-1} [g(u)-T]^{l-1} p(u) z(g(u)) du \right].$$

It follows from (3) that the function  $z(t)/(t-T)$ ,  $t > T$ , is nonincreasing. So we have

$$z(g(u)) \geq \frac{g(u)-T}{t-T} z(t), \quad t \geq u > T_1, \quad \text{and} \quad z(g(u)) \geq \frac{g(u)-T}{u-T} z(u),$$

since  $g(u) \leq u$ .

Then (9) yields

$$(n-l)! l! \geq \frac{1}{t-T} \int_{T_1}^t (u-T)^{n-l} [g(u)-T]^l p(u) du + (t-T) \int_t^\infty (u-T)^{n-l-2} [g(u)-T]^l p(u) du.$$

The last inequality for  $l \in \{1, \dots, n-1\}$  implies

$$(n-1)! \geq (n-l)! l! \geq \frac{1}{t-T} \int_{T_1}^t (u-T)^{n-l} [g(u)-T]^l p(u) du + (t-T) \int_t^\infty (u-T)^{n-l-2} [g(u)-T]^l p(u) du.$$

Since  $(u-T)^{n-l} [g(u)-T]^l \geq (u-T) [g(u)-T]^{n-1}$  for  $1 \leq l \leq n-1$ ,  $u \geq T_1$ , we have

$$(n-1)! \geq \frac{1}{t-T} \int_{T_1}^t (u-T) [g(u)-T]^{n-1} p(u) du + (t-T) \int_t^\infty \frac{[g(u)-T]^{n-1}}{u-T} p(u) du,$$

which contradicts condition (4).

Let  $l = 0$ . Then  $n$  is odd and condition (4) implies

$$(10) \quad \int_0^\infty t^{n-1} p(t) dt = \infty.$$

Otherwise, if

$$\int^{\infty} t^{n-1} p(t) dt < \infty,$$

then we can choose  $T \in [t_2, \infty)$  so large that

$$\int_T^{\infty} t^{n-1} p(t) dt \leq \frac{1}{2}(n-1)!,$$

and by (4) we have

$$(n-1)! < \limsup_{t \rightarrow \infty} \left[ \int_T^t [g(s)]^{n-1} p(s) ds + \int_t^{\infty} [g(s)]^{n-1} p(s) ds \right] \leq \frac{1}{2}(n-1)!,$$

which is a contradiction.

From (6) for  $j = 0$ ,  $k = n$ ,  $z(t) = y(t)$ , we find that

$$y(t) \geq -\frac{1}{(n-1)!} \int_t^{\infty} (u-t)^{n-1} y^{(n)}(u) du, \quad t \geq t_2,$$

and

$$y(t) \geq \frac{1}{(n-1)!} \int_t^{\infty} (u-t)^{n-1} p(u) y(g(u)) du.$$

If  $y(t)$  is bounded below by a positive constant  $c$ , then

$$y(T) \geq \frac{c}{(n-1)!} \int_T^{\infty} (u-T)^{n-1} p(u) du, \quad T \geq t_2,$$

which is a contradiction with (10). So  $\lim_{t \rightarrow \infty} y(t) = 0$ . This completes the proof.

**Corollary 1.** Consider the ordinary differential equation

$$(11) \quad y^{(n)}(t) + p(t) y(t) = 0, \quad n \geq 2.$$

Let the following condition be fulfilled:

$$\limsup_{t \rightarrow \infty} \left[ \frac{1}{t} \int_T^t s^n p(s) ds + t \int_t^{\infty} s^{n-2} p(s) ds \right] > (n-1)!, \quad T \in [a, \infty).$$

Then equation (11) has property A.

**Theorem 2.** Let  $g(t)$  be continuously differentiable and suppose that there exists a function  $\omega \in C_1([a, \infty), (0, \infty))$  bounded below by a positive constant and such that

$$(12) \quad \int_T^{\infty} \frac{dt}{t\omega(g(t))} < \infty \quad \text{and} \quad \int_T^{\infty} \frac{[g(t)]^{n-1} p(t)}{\omega(g(t))} dt = \infty, \quad T \in [a, \infty).$$

Then equation (1) has property A.

**Proof.** We shall show that (12) implies

$$(13) \quad \limsup_{t \rightarrow \infty} \frac{1}{t} \int_T^t s[g(s)]^{n-1} p(s) ds = \infty.$$

Assume that

$$\frac{1}{t} \int_T^t s[g(s)]^{n-1} p(s) ds \leq c \quad \text{for } t \in [T, \infty).$$

Then

$$\begin{aligned} \int_T^t \frac{[g(s)]^{n-1} p(s)}{\omega(g(s))} ds &= \frac{1}{t \omega(g(t))} \int_T^t u[g(u)]^{n-1} p(u) du + \\ &+ \int_T^t \frac{\omega(g(s)) + s[\omega(g(s))]' }{s^2 \omega^2(g(s))} \int_T^s u[g(u)]^{n-1} p(u) du ds \leq \\ &\leq \frac{c}{m} + \int_T^t \frac{\omega(g(s)) + s[\omega(g(s))]' }{s \omega^2(g(s))} \frac{1}{s} \int_T^s u[g(u)]^{n-1} p(u) du ds \leq \\ &\leq c \left[ \frac{1}{m} + \int_T^t \frac{ds}{s \omega(g(s))} + \int_T^t \frac{[\omega(g(s))]' }{\omega^2(g(s))} ds \right] < \infty, \end{aligned}$$

where  $m = \inf \{ \omega(g(t)) : t \in [T, \infty) \}$ , which is a contradiction with (12). So condition (13) is fulfilled and we can apply Theorem 1.

**Corollary 2.** Let there exist a function  $\omega \in C_1([a, \infty), (0, \infty))$  bounded below by a positive constant and such that

$$(14) \quad \int_T^\infty \frac{dt}{t \omega(t)} < \infty \quad \text{and} \quad \int_T^\infty \frac{t^{n-1} p(t)}{\omega(t)} dt = \infty, \quad T \in [a, \infty).$$

Then equation (11) has property A.

**Remark.** According to (14), Mikusinski's condition

$$(15) \quad \int^\infty t^{n-1-\varepsilon} p(t) dt = \infty, \quad \varepsilon > 0,$$

which guarantees the validity of the assertion of Corollary 2, implies the condition of Corollary 1.

**Example.** For the equation

$$y^{(4)}(t) + ct^{-4} y(t) = 0, \quad c > 3!, \quad t > 0,$$

the condition of Corollary 1 is fulfilled and so every solution of this equation is oscillatory. However, condition (15) is not satisfied.

**Theorem 3.** *Suppose that*

$$(16) \quad \limsup_{t \rightarrow \infty} \left[ \frac{1}{t} \int_T^t s [g(s)]^{n-1} p(s) ds + t \int_{\gamma(t)}^{\infty} [g(s)]^{n-2} p(s) ds \right] > (n-1)!, \quad T \in [a, \infty).$$

Then equation (1) has property A.

*Proof.* Let  $y(t)$  be a solution of equation (1) such that  $y(g(t)) > 0$  for  $t \in [t_0, \infty)$ ,  $t_0 \geq a$ . With regard to Lemma 1 there exist  $t_1 \in [t_0, \infty)$  and  $l \in \{0, 1, \dots, n-1\}$  such that  $n+l$  is odd and (2), (3) hold.

Let  $l \in \{1, \dots, n-1\}$ . We choose  $T_1 \geq T \geq t_1$  such that  $g(u) \geq T$  for  $u \geq T_1$ . From (9), in view of the properties of the function  $\gamma(t)$ , we obtain

$$z(t) \geq \frac{1}{(n-l)! l!} \left[ \int_{T_1}^t (u-T)^{n-l} [g(u)-T]^{l-1} p(u) z(g(u)) du + (t-T) \int_{\gamma(t)}^{\infty} (u-T)^{n-l-1} [g(u)-T]^{l-1} p(u) z(g(u)) du \right].$$

Using  $z(g(u)) \geq (g(u)-T)/(t-T) z(t)$ ,  $t \geq u > T_1$ , and the properties of the function  $\gamma(t)$  we conclude

$$(17) \quad (n-l)! l! \geq \frac{1}{t-T} \int_{T_1}^t (u-T)^{n-l} [g(u)-T]^l p(u) du + (t-T) \int_{\gamma(t)}^{\infty} (u-T)^{n-l-1} [g(u)-T]^{l-1} p(u) du.$$

For  $l \in \{1, \dots, n-1\}$ , (17) implies that

$$(n-1)! \geq \frac{1}{t-T} \int_{T_1}^t (u-T) [g(u)-T]^{n-1} p(u) du + (t-T) \int_{\gamma(t)}^{\infty} [g(u)-T]^{n-2} p(u) du,$$

which contradicts condition (16).

Let  $l = 0$ . Using the same argument as in the proof of Theorem 1 we find that  $\lim_{t \rightarrow \infty} y(t) = 0$ . This completes the proof.

### References

- [1] *Chanturia, T. A.*: Integral conditions of oscillation of solutions of higher-order linear differential equations (Russian), *Differencialnye Uravnenija* 16 (1980), 470–482.
- [2] *Fite, W. B.*: Concerning the zeros of the solutions of certain differential equations, *Trans. Amer. Math. Soc.* 19 (1918), 341–352.
- [3] *Kiguradze, I. T.*: Concerning the oscillation of solutions of the equation  $u^{(m)} + a(t) \cdot |u|^n \operatorname{sign} u = 0$  (Russian), *Mat. Sb.* 65 (1964), 172–187.
- [4] *Kiguradze, I. T.*: The problem of oscillation of solutions of nonlinear differential equations (Russian), *Differencialnye Uravnenija* 1 (1965), 995–1006.
- [5] *Kusano, T.*: On even order functional differential equations with advanced and retarded arguments, *J. Differential Equations*, to appear.
- [6] *Ličko, I., Švec, M.*: Le caractere oscillatoire des solutions de l'équations  $y^{(n)} + f(x) y^x = 0$ ,  $n > 1$ , *Czechoslovak Math. J.* 13 (1963), 481–491.
- [7] *Lovelady, D. L.*: On the oscillatory behavior of bounded solutions of higher order differential equations, *J. Differential Equations* 19 (1975), 167–175.
- [8] *Marušiak, P.*: Oscillation of solutions of delay differential equations, *Czechoslovak Math. J.* 24 (1974), 284–291.
- [9] *Mikusinski, J.*: On Fite's oscillation theorems, *Colloq. Math.* 2 (1949), 34–39.
- [10] *Myškis, A. D.*: Linear Differential Equations With Retarded Argument (Russian), Moscow 1972.
- [11] *Onose, H.*: Oscillation criteria for second order nonlinear differential equations, *Proc. Amer. Math. Soc.* 51 (1975), 67–73.
- [12] *Ševelo, V. N.*: Oscillation of Solutions of Differential Equations With Deviating Argument (Russian), Kiev, 1978.
- [13] *Staikos, V. A., Sficas, Y. G.*: Forced oscillations for differential equations of arbitrary order, *J. Differential Equations* 17 (1975), 1–11.

*Author's address:* 010 88 Žilina, Marxa-Engelsa 25, ČSSR (Vysoká škola dopravy a spojov).